Multiplying a Binomial by Two Trinomials (C)

Simplify each expression.

1. (=8n — 1)(5n* + 7Tn® + 5n?)(—4n* — 2n° + 2n?)

DO

(5n* 4 Tn)(5n* — 6n — 4)(Tn® + Tn* + 7n)

(=3 =T+ 6 +Af)(=8f+ f —5)

o

1 (a+8)(—9a” + 4a* — 6a*)(9a* — 9a — 7)

5. (8d* + 4d)(2d® — 3d* 4 d)(—9d° — 9d* — 7d?)
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Multiplying a Binomial by Two Trinomials (C) Answers
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Simplify each expression.

(=8n — 1)(5n* 4+ Tn® + 5n2)(—4n4 —2n® + 2n?)
= 160n° + 324n° + 230n" — 8n% — 84n° — 10n*

(5n? 4 Tn)(5n* — 6n — 4)(Tn® + Tn® + n)
— 175n" + 21015 — 224n° — 595n* — 630n° — 19612

(=3 =TRPP + 67+ 4f) (-8 + f—5)
— 481 + 250 1% + 430f7 + 330f° + 242f° + 140f*

(a4 8)(—9a” + 4a* — 6a*)(9a* — 9a — 7)
= —81a® — 531a" + 909a° — 190a° + 250a* + 3364°

(84 + 4d)(2d* — 3d® + d)(—9d° — 9d* — 7d*)
= —144d" + 68d® + 112d" — 8d° — 284°
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